Project Managers Guide to Milestone Based Budget Reporting	3/16/2012
Desired Outcome – Per the TOC’s request, project managers will provide additional metrics to more clearly characterize project budgets.  Currently the slide contains a simple forecast budget, actual and balance remaining information.  These slides do not consider how much of the project has been completed in regards to how much budget was planned to be spent to date.  Milestone Based Budget reporting has been developed to help provide this information.


The TOC has selected Milestone Based Budget (MBB) reporting as an additional tool to be used by City project managers to report during project updates.   The following are the steps needed to execute MBB.
Step 1 – Establish agreed upon project milestones with the TOC
The project manager and TOC need to align on the milestones that will be used to characterize a project.  The selected milestones will be used to roll up task level budget data to an aggregate number for the milestone. These milestones should also be used for tracking and reporting schedule status.




Step2 – Align budget to milestones and calculate the Budget Performance Index for each milestone. 
Once the PM and TOC are have aligned on the reporting milestones budget and schedule should be aggregated to the milestones level.  From this point a two step calculation can be used to derive MBB.
Calculation 1 - Budget Performance Index – BPI is a simple metric that compares the rate of budget spent and for a given period of schedule such as a milestone. BPI does this by a very simple assessment of three factors:
· Budget at Completion – How much did we budget for the total project?  
· Actual Cost – What is the actual cost incurred?
· Actual Schedule Complete – Expressed as a % of the schedule completed to date for the milestone.
How BPI works (project example)
· Budget at completion of $1,000,000
· Actual cost to date as of 4/1/2012 is $200,000
· The project milestone started on 1/1/2012 and is to finish on 12/31/2012. As of 4/1/2012 the project is 25% of the way through its planned schedule (actual schedule complete). 
Calculating BPI - 
BPI =   (Actual Cost/ Budget at Completion) / Actual Schedule Complete
BPI = (200,000/1,000,000)/.25 = .80
Interpreting BPI 
A BPI less that 1 would be interpreted as positive indicator. 
This would indicate that the project is incurring costs at a rate less than the schedule.  
A number greater than 1 would be interpreted as negative indicator.
This would indicate that the project is incurring costs faster than has been scheduled.











Calculation 2 - Milestone Based Budgeting (MBB)
How MBB works – In this model the PM and TOC would align on the development of key milestones for the project.  These milestones will have work packages defined and subsequent budget and schedules created.  Rather than report the budget\schedule outcome of each task comprising a milestone the tracking point is for the milestone itself.  For TOC reporting purposes budget and schedule collectively roll up and are reported at the milestone level.   
 With milestones developed the PM would then apply BPI assessment techniques at the milestone level.  This preserves a way to manage discrete data on the milestones overcomes a weakness of BPI by allowing for each milestone to have its own relationship between budget and schedule.  Thus the only constraint is an assumption that within each milestone MBB assumes a linear correlation between budget and schedule.  MBB also allows for the reporting of BPI overtime as is seen in the following example
MBB Example (Simplified example, assumes a 3/15/2012 analysis date)

MBB and Schedule - Project Managers should align their budget and schedule reporting on common milestones.
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Project Budget

Item Forecast |Actual Balance |Notes
(2011-12) 011-12)

Hardware/Software $1,083,241 $356,112 $727,129 | BOEC Switch; Task
Orders #1-2

Professional Services $100,000 - $100,000 | Mainframe data
moves

Training $30,000 $26,986 $3,013 | 3 HiCards (Task
Order #3)

Other $25,000 - $25,000 | QA Services task
order

Contingency (15%) $218,513 - $218,513

Total | $1.456,754 $383,098 | $1,073,656

Budget Variance: None.





image2.png
Milestone Based Budget Performance

ProjectMilestones Milestone |Budgetat |ActualCost | Actual BPI=

Projectstart12/1/2011Finish 12/1/2012 | Dates Completion |AC Schedule | (AC/BC)/

Assume 3/15/1q12 analysis date 8c (asof Complete | ASC

3/15/2012)  |Asc

Wilestone 1 12/1/11- |20000  |23,000 100% 115
12/31/11

Wilestone 2 1/1/12- |400,000 |380,000 100% 55
13112

Milestone 3 2/1/12- 50000 |65000 100% 3
212912

Wilestone 4 3/1/12- 1,000,000 700,000 50% 12

3/31/12
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